Scanning the log files

For the first scan! | used the auto-replay log files.
* These are located at

- [adagfs/home/a-onl/tritium/replay/t2root/Rootfiles/log

* | scanned for the the following keywords:
- "warning","Warning","WARNING","ERROR","error","Error"

 Then | separated them into the following types

- "Other","Scaler","overflow", "Output”,"out of bounds","Resolution
lock", "Decoder","CODA"

 Each type will get its own output file.



Log file scanner

* Example of the statement stored into the output
file:

ladagfs/home/a-onl/tritium/replay/t2root/Rootfiles/log/848.log
THaOutput::Init: WARNING: Block OldTrackL.* does not match any variables.

/adagfs/home/a-onl/tritium/replay/t2root/Rootfiles/log/705.log
Warning:: Scalers are handled by event handlers now
Warning::GenScaler:: (1,0) using default num 32 channels
GenScaler:: ERROR: (1,5) inconsistent number of chan.

Warning:: Scalers are handled by event handlers now



What do the errors mean?

Warning:: Scalers are handled by event handlers now

ReplayCore(

' Replay script
runnumber, Ffrun #
numevents, £f-1=replay all;e=ask for a number
50000, Afdefault replay ewvent num
RNAME, Sfoutput file Tormat
ODEF.Datal), Fdout define
CUTS.Data(), flempty cut define
hscaler, Afreplay scalar?
bHelicity, Sfrepaly helicity
TstEvE, FPFirst Event To Replay
QuietRun ffwhether ask user for inputs
¥

!/
void THaAnalyzer::EnablePhysicsEvents( Bool t b )

TDoPhysics = b;
} ThaAnalyzer Class

/i
void THaAnalyzer::EnableScalers( Bool t )

{

cout << "Warning:: Scalers are handled by event handlers

}

!/
void THaAnalyzer::EnableSlowControl( Bool t b )

fDoSlowControl = b;
}

rr

now"<=<endl:

// step 1: Init analyzer
cout=="replay: Init analyzer ..."==endl;
THaanalyzer* analyzer = THatnalyzer::GetInstance();
if({ analyzer ) {

analyzer-=Close();
} else {

analyzer = new THatnalyzer;
}
gHaCuts-=Clear()

ReplayCore

//Enable scalers
if (Enablescalar)
{

cout=="replay: Enabling Scalars"==endl;
analyzer-=EnableScalersi();
}

//Enable Helicity
if (EnableHelicifty)
{
cout=="replay: Enabling Helicity"==<endl;
analyzer-=EnableHelicity();

H

Warning:: Scalers are
handled by event handlers

Is a issue with the
conversion from analyzer 5
to 6. Since we enable
scalers through other
means, this is not an issue
for us!



Warning::GenScaler:: (1,0) using default num 20 channels

Replay script
Tritium THaScaler10@evtHandler* rendscaler = new Tritium THaScaleri@@evtHandler("EndRight”, "HA scaler event type 108");
gHaEvtHandLers-=Add( rendscaler),

Tritium_Tritium_THaScalerl100EvtHandler

lifruvepugriie) Tluepugrliie=< 2L0L << <<
while(p<pstop)
{if (scalers[j]-=IsSlot(*p)==kTRUE)
{scalerloc[j]->Tound=kTRUE;
ifound=1,;
IsSlot function in GenScaler.C goto Toundl;}
Bool t GenScaler::IsSlot(UInt t rdata) {
/// Check if this word is the header for the slot we are looking for
/// Get the number of channels in this module from the header and

/// save so that bank version of LoadSlot can skip over this module if
/// it is not the correct one.

Bool t result; fNumChanMask = Oxff;
static Bool t firsttime=kTRUE; - TR
static Bool t firstwarn=kTRUE; fNumChansShift = 0;
result = ((rdata & fHeaderMask)==THeader):
TNumChan = (rdata&fNumChanMask)=>>fNumChanShift;
if (fNumChan == 0) {

TNumChan=fgNumChanDefault;

if (firsttime) {

firsttime = kFALSE;

cout << "Warning::GenScaler:: (" << fCrate << "," << fSlot =< ") "
"using default num "<<fgNumChanDefault << " channels" << endl;



Warning::GenScaler:: (1,0) using default num 20 channels

1st — ca 2@/—801000 3d -c8 4th — 100 5t -abc00010

—

“ Ca=202indec — Total number of words for the event?
e C8 =200 in dec — Total number of words remaining?

* (abc00010) — abc = left arm, first O = slot (0) — next four digits is hex
for the number of channels. So 0010 = 16 channels.

e 100 =256 indec — ?7????? This causes the warning to pop!! Not the
header of a scaler... Warning is firing when not looking at scaler.

Lookin e binary for run 3057
Xcefdmp

Data Source: | lagl/datal/triton_3057,.dat,0 T OxBc

Data Source Dictionary Yiew Options H

0RO
Dictionary:  ¥Yadagfs/codas/2.6,.2/connon/li 0x0: (on adaqulab.org} %
Tag Hane: |} Oxabc00010  OxO0O00000  OxOOOO0)  Ox00000000  OR000D000) 000000000
TR0000000 000000000 000000000 OxOODOO00D  0x00000000  0x00000000  Ox00000000  Oxabel 0020  OxOODOO0G)  OxOODOO0H)
Event Hunber: |5 OxQOOOON0  OROQO00000  Ox00O0000)  OxO0DO000)  Ge00000000 00000000 0x00000000  0x0000M)00  OxOO000000  OxOOOO0OM)0

0x 0000000 OgOO0Q00000  0x0000000)  Ox0000000)  OxQ0000000  Ox00000000 000000000 000000000 Ox00000000)  OxOON0O000
0x 00000000 OgOO0Q00000  0x000Q0000)  Ox0000000)  OxO0000000  Ox00000000 000000000 000000000 Ox00000000)  OxOOQ0O000
1 Oxabc20020  0x00000000  0x00000000  0x00000000  0x00000000  0x00000000  0x00000000 000000000  0x00000000  OxOOQOO000
0x00000000  0x00000000  0x0000000)  0x00000000  0x00000000  0x00000000  0x00000000 000000000  0x00000000  OxO0QOO000
OR00000000  0x00000000  0x0000000)  0x00000000  0x00000000  0x00000000  0x00000000 000000000  0x00000000  OROOGOON00
OR00000000  0xQ0000000  Ox0000000)  Oxabc30020  0x0000020e  0x000003bS  0x000006al OxQ0000852  O0x000007c]l  Or0O0000574
Ox0000040d 000000397 0x0000032b  Ox000002ad  O0xQ0000287  O0x00000244  0x00000232  0x0000022d  0x00000214  Ox000001ec
Ox000001cS  0x000003b5  0x0000068b  Ox00000855  0x00000780  0x00000569 0x000003F2  Ox000003a0 0x000002a3a OxO0O00287
0x00000281  0x000001c2  0x000001ed  O0x0000020a 0x000001fe O0x0000020d Oxabcd0020 0x00001ab?  0x0000187F  Ox00001a0d
Enable Dictionary Disable Dictionary 0x00002603  0x00000002  0x00000029  0x0000031d  0x00013bed  0x000018ec  0x00003592 O0x0000330a O0x0000311c  Ox0O0000cea
0x00000000  0x00002868 0x004alabl O0x00001Fd6  0x000019e2 0x00002573 O0x00002439 000001607  0x00001580 0x000011ad
0x00000d68  0x00000f32  0x00000ebe O0x000060bS  0x00002b58 0x0000276F O0x000023F6  0x00002chHh  0x00002c55  Oxabch0010
OR00000000  0xQ0000000 00000000  OxO0MOO00)  0xO00000000  0x00000000 0x00Q00000 000000000  0x0QOO000)  OROOQOON00
Spy Event OR00000000  0xQ0000000  Ox0000000)  OxO0MOO00)  0xO0000000  0x00000000  OxabeB0020  0xOO000000  Ox0Q0OO000)  OROOQOON00

Ox 00000000 OrOOOOO000  Ox0NOO0N0)  Ox00000000)  GxOOO0000D  Ox00000000  0x0000NN00  OxOOO0OD0OD  Ox000OND0)  DxrOODOO0H0
0x 0000000 OgOO0Q00000  0x000Q0000)  Ox0000000)  OxO0000000  Ox00000000 000000000 000000000 Ox00000000)  OxQOQ0O000
Ox 0000000 OgOO0Q00000  0x000Q000)  Ox0000000)  OxO0000000  Ox00000000 000000000 000000000 Ox0QOON)0)

fpant Hisber Siider

Decinal Dunp Hex Dunp

Yiew Hext Yiew Previous

Reoerued Quit

Close Hask




GenScaler:: ERROR: (1,5) inconsistent number of chan.
GenScaler:: ERROR: (10,3) inconsistent number of chan.

Same files as last error!

IsSlot function in GenScaler.C

it (result &% TMumChan !'= fwordsExpect) {

if fNLlW _ i
( " result = ((rdata & fHeaderMask)==fHeader);

fNumChan = TwordsExpect;

fHeaderMask = OxffOO0:

ff Print warning once to alert user to potential problems,
f/ or Tor every suspect event 1T debugging enabhled fHeader = fSlot << 8;
if( firstwarn || fDebugFile ) {

cout == "Genscaler:: ERROR: (" == fCrate == "," == f5lot == ") "

== "inconsistent number of chan."==endl,

. DoPrint();

firstwarn = Talse;
}

}

return result;

For abc5 - stored as 1151 in the scaler file on adaq ,but in our DB file stored
as 3800.

In data stream the number of channels setis 16 so 16 != 32 from DB.

For ceb3 stored as 3800 in adaqg, but Our DB — 1151 with 16 channels.



Decoder:: WARNING: Fastbus module in (roc,slot) =
(3,1) found in data but NOT in cratemap !

CodaDecoder.cxx

if { fbfound[index] && 1fMap-=slotUsedi{iroc, islot)) {
if (fDebugFile) *fDebugFile == "FB slot in data, but WOT in cratemap (bad!). roc = "==irpc==" slot = "==islot==endl;
slotstat[index]=3;

3
for (Int_t iroc=@; iroc=MAXROC; iroc++) {

if ( !TMap-=isFastBus(iroc) ) continue;
for (Int_t islot=0; islot=MAXSLOT, islot++) {
Int_t index = MAXSLOT*iroc + islot;
it (slotstat[index]==3) cout == "Decoder:: WARNING: Fastbus module in (roc,slot) = ("=<iroc==","==islot==") found in data b

h
} From the Debug file in CodaDecoder
FB slot NOT in data, but in cratemap (bad!). roc = 2 slot = 18
IFB slot NOT in data, but in cratemap (bad!). roc =2 slot = 31
FB slot in data, but NOT in cratemap (bad!). roc =3 slot =1
FB slot in cratemap and in data. (good!). roc = 3 slot = 16
FB slot in cratemap and in data. (good!). roc = 3 slot = 17
FB slot in cratemap and in data. (good!'). roc =3 slot = 18
FB slot in cratemap and in data. (good!). roc =3 slot = 19
FB slot in cratemap and in data. (good!'). roc =3 slot = 20
FB slot in cratemap and in data. (good!). roc =3 slot = 21
FB slot NOT in data, but in cratemap (bad!). roc = 3 slot = 22
FB slot in cratemap and in data. (good!). roc =3 slot = 31
FB slot in data, but NOT in cratemap (bad!). roc = 4 slot = 1
FB slot in cratemap and in data. (good!). roc =4 slot =3
FB slot in cratemap and in data. (good!). roc =4 slot = 4
FB slot in cratemap and in data. (good!). roc =4 slot =5
FB slot in cratemap and in data. (good!). roc =4 slot = 6
FB slot in cratemap and in data. (good!). roc = 4 slot = 7
FB slot in cratemap and in data. (good!). roc =4 slot = 8
FB slot in cratemap and in data. (good!). roc =4 slot =9
FB slot in cratemap and in data. (good!). roc =4 slot = 10
FB slot in cratemap and in data. (good!'). roc =4 slot = 11
FB slot in cratemap and in data. (good!). roc =4 slot = 17
FB slot in cratemap and in data. (good!). roc =4 slot = 18
FB slot in cratemap and in data. (good!). roc =4 slot = 22
FB slot in cratemap and in data. (good!). roc =4 slot = 31
FB slot in data, but NOT in cratemap (bad!). roc =5 slot =1
FB slot in cratemap and in data. (good!). roc =5 slot = 16
FB slot in cratemap and in data. (good!). roc =5 sleot = 17




1 CODA Error Runs: 2274,2770

ITHaAnalyzer.cxx
cout == "Counter summary:" << endl;

- : ITHaAnalyzer.h
first = false; y L
flr---- - InLinges ----------=-=----=-----------
} inline UInt_t THaAanalyzer::GetCount({ Int_t i ) const
. {
e cptyly) < gg I 1 ge ¢g :
cout =< sefw(w) =< GetCount(1) text =< endl; return Tcounters[1].count:
: \QHaAnal Zer.cxx:
{ kDecodeErr, "decoding error" 3},
{ kcodaErr, "CODA errors™ 3},
{ KRawDecodeTest, "skipped after raw decoding"™ 3,
~ ITHaAnalyzer.cxx
Int_t THafanalyzer::ReadOneEvent()
{
'/ Read one event from current run (fRun) and raw-decode it using the
/4 current decoder (fEvData)
default:

Int_t status = THaRunBase::READ_OK;

Incr(kCodakErr),
! status = fRun — ReadEvent();

break;
switch( status ) {

case THaEvData::HED_OK: // fall through
case ThaEvData::HED WARN:
case ThaEvData::HED_ERR:
case ThaEvData::HED_ FATAL:
case THaRunBase::READ_EOF: // fall through
case THaRunBase::READ_ FATAL:



THaSlotData: Warning in loadData: channel 125 out of
bounds, ignored, on crate 4 slot 31

- Runs 776,777,779,870,876,910,913,2007,2408
- For 2408 crate 5 slot 31
- From DB both slots have 96 channels

THaSlotData.cxx
it (chan = @ || chan == (intimaxc) {
if (VERBOSE) {
cout == “THaSlotData: wWarning in loadData: channel ;
cout ==chan==" out of bounds, ignored,"
= " gn crate " == crate == " slot "== slot == endl,

¥



THaOutput::Init: WARNING: Block does not

match any variables.

L.tr.z — should be L.tr.vz or could use L.tr.*

OldTrackL.* -> Bool t bOldTrack=kFALSE;
— Old track is turned off, but still in odef!

LeftEDTM s2 — scaler values need to be added into their DB
also.

FbusLurb* — Need to add unrastered beam class into replay

RightFB_remote — scaler values need to be added into their
DB also.

DR.ItClock* — Decoder values need to be added into their DB
DR.ItL1* — Decoder values need to be added into their DB



Warning: F1 TDC Slot (Ch) = 14(22) Output FIFO overflow
Warning: F1 TDC Slot (Ch) = 14(21)  Hit-FIFO overflow
Warning: F1 TDC Slot (Ch) = 14(14) Resolution lock failure!

if (okslot && fislot!=30 && ((*loc) & DATA_CHK) != F1_RES_LOCK ) {

i f(nwarnings<ie) { const UInt_t FI_HIT_OFLW = 1==24; // bad
cout =< "\twarning: F1 TDC " =< hex =< (*loc) =< dec; const UInt_t F1 OUT_OFLW = 1=<25; // bad
cout == "\ts5lot (Ch) = " == fislot == "(" == chan == ")"; const UInt_t F1_RES_LOCK = 1=<26; // good
’
} const UInt_t DATAICHK = F1 HIT OFLW | F1 OUT_OFLW | F1_RES_LOCK;
run 1861

" " Hit-FIFO ovetflow: 0.01% ofevts’ = ' '~ '~

counts

70 Resolution lock failure: 0.15% of evts

if { (*loc) & F1_OUT_OFLW ) {

fwarnings[chSlot] |= UL == 1; // Znd bit E
ifinwarnings=10) cout == "“toutput FIFO overflow"; . ; . _:
) Link for image location! 3
if ( (*loc) & F1_HIT _OFLW ) { 30:— —:
fwarnings[chslot] |= 1UL == @8, // 1st bit = ]
if(nwarnings=108) cout == "“\tHit-FIFO overflow"; 20:— —:
} C ]
10— —]
DZI | | | | — |—| |_| |_| o I | | | | | | | | | | | | | | | I:

0 10 20 30 40 50 60
F1 channel

if { ! ((*loc) & F1_RES LOCK ) ) {
fwarnings[chslot] |= 1uUL == 2; // 3rd bit
if({nwarnings<10) cout == "“tWarning: F1 TDC " == hex == (*loc) == dec == "“tResolution lock failure!™,


https://wiki.jlab.org/tegwiki/index.php/Run_Meeting:_February_7th,_2018
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